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Exercise 10- 9 Material and Labor Variances [LO2, LO3]
Topper Toys has developed a new toy called the Brainbuster. The company has a standard cost system to help control costs and has established the following standards for the Brainbuster toy:

Direct materials: 8 diodes per toy at $0.30 per diode

Direct labor: 1.2 hours per toy at $7 per hour

During August, the company produced 5,000 Brainbuster toys. Production data on the toy for August follow:

Direct materials: 70,000 diodes were purchased at a cost of $0.28 per diode. 20,000 of these diodes were still in inventory at the end of the month. Direct labor: 6,400 direct labor-hours were worked at a cost of $48,000.

Requirement 1:

Compute direct materials price and quantity variances for August. (Indicate the effect of each variance by selecting "F" for favorable, "U" for unfavorable, and "None" for no effect (i.e., zero variance)). Input all amounts as positive values. Omit the "$" sign in your response.
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Requirement 2:

Compute direct labor rate and efficiency variances for August. (Indicate the effect of each variance by selecting "F" for favorable, "U" for unfavorable, and "None" for no effect (i.e., zero variance)). Input all amounts as positive values. Omit the "$" sign in your response.
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$

[image: image25.wmf]

list



 HTMLCONTROL Forms.HTML:Hidden.1 [image: image26.wmf]

2



 HTMLCONTROL Forms.HTML:Text.1 [image: image27.wmf]



 HTMLCONTROL Forms.HTML:Hidden.1 [image: image28.wmf]

1


[image: image29.wmf]

string



 HTMLCONTROL Forms.HTML:Select.1 [image: image30.wmf]

U




[image: image31.png]



[image: image32.png]


Hint 1 [image: image33.png]


| Hint 2




Bottom of Form

_1309720281.unknown

_1309720285.unknown

_1309720287.unknown

_1309720288.unknown

_1309720286.unknown

_1309720283.unknown

_1309720284.unknown

_1309720282.unknown

_1309720273.unknown

_1309720277.unknown

_1309720279.unknown

_1309720280.unknown

_1309720278.unknown

_1309720275.unknown

_1309720276.unknown

_1309720274.unknown

_1309720269.unknown

_1309720271.unknown

_1309720272.unknown

_1309720270.unknown

_1309720265.unknown

_1309720267.unknown

_1309720268.unknown

_1309720266.unknown

_1309720263.unknown

_1309720264.unknown

_1309720261.unknown

_1309720262.unknown

_1309720260.unknown

_1309720259.unknown

